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NOTE:
1.
This is an open book examination. Communications devices such as mobile phones are not permitted.

2.
Candidates must answer two questions from Section One (each of which is worth 25 marks) and one question in Section Two (which is worth 50 marks). No additional marks will be awarded for answering a third question in Section One or a second question in Section Two. 

3.
Candidates should assume that the scenarios set out in Section Two take place in British Columbia.
THIS EXAMINATION CONSISTS OF TWO SECTIONS 

(WITH FIVE QUESTIONS)
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SECTION ONE
Answer any TWO of the following three questions:

1.
Under what circumstances can an intervening act or event break the chain of causation in criminal law? What is the rationale for requiring courts to consider questions of legal causation after factual causation has been established? Explain your answer, with reference to materials you have read for Criminal Law so far this year.
(25 marks)

2.
What is subjective mens rea? Should we abandon the presumption of subjective fault in favour of objective tests of mens rea? Explain your answer, with reference to materials you have read for Criminal Law so far this year.
(25 marks)

3.
Why do we need the criminal law? To what extent does the focus on crimes as public wrongs help to distinguish criminal law from other substantive areas of law you have studied this year? Explain your answer, with reference to materials you have read for Criminal Law so far this year.
(25 marks)
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SECTION TWO
Answer ONE of the following two questions:

4.
After a long day of studying in the law library, Avery and Blake go outside to take a break. It has been snowing, and Avery says to Blake: “How about a quick snowball fight before we go back to work?” Before Blake has a chance to answer, Avery throws a snowball and hits Blake in the chest. Blake then grabs a handful of snow from the ground, packs it into a hard ball, and throws it directly at Avery’s head. Avery ducks, and the snowball – which contains a small rock – hits Casey (a passerby) in the face. Casey touches their forehead and, realizing they are bleeding, yells at Blake: “I’m going to get you!” Casey then runs towards Blake and slips on the icy ground. Casey falls and breaks their arm.
The Crown is considering charging Avery, Blake, and Casey each with assault. Discuss Avery, Blake, and Casey’s potential criminal liability contrary to Sections 265, 267, and 268 of the Canadian Criminal Code. Do you think Avery, Blake, and/or Casey are likely to be convicted of any offences under any of these sections? Explain your answer with reference to materials you have read for Criminal Law this year and include a discussion of all elements of the relevant offence(s). 
(50 Marks)
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5.
Archer is driving home late at night after a long day at work. It is dark and the roads are icy. Despite the conditions, Archer is driving 10 kilometres per hour over the speed limit (which is 50 kilometres per hour). Archer briefly looks away from the road to change the station on his car radio. When he looks up, Archer sees that the truck in front of him has stopped. Archer brakes suddenly to avoid hitting the truck and loses control of his car. The car spins around several times before coming to a complete stop on the other side of the road. Before Archer can move his car off the road, a bicycle ridden by Beatrice crashes into the side of his car. Beatrice falls off the bicycle. When Beatrice tries to stand up, she slips on the icy road and falls to the ground, breaking her arm.
(i) With reference to the offences you have studied this term, advise Archer on their potential criminal liability under Section 320.13 of the Criminal Code. Explain your answer with reference to materials you have read for Criminal Law so far this year and include a discussion of all elements of the relevant offence(s).

(30 Marks)

(ii) Would your answer in (i) be any different if it could be shown that Archer – instead of looking down to change the radio station – had momentarily fallen asleep at the wheel before seeing that the truck in front had stopped? Explain your answer with reference to materials you have read for Criminal Law so far this year.
(10 Marks)

(iii) Would your answer in (i) be any different if it could be shown that Beatrice did not have any lights on her bicycle? Explain your answer with reference to materials you have read for Criminal Law so far this year.

(10 Marks)
END OF EXAMINATION
